
Berechnung	
  des	
  gesetzlichen	
  Krankengeldes	
  	
  
und	
  der	
  Versorgungslücke	
  in	
  der	
  GKV	
  
	
  

Mehr	
  Informationen	
  auf	
  www.online-­‐pkv.de	
  	
  
	
  
	
   	
   	
   	
   	
   	
   	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  Bitte	
  Brutto	
  und	
  Netto	
  eintragen!	
  

Bruttoeinkommen**	
   monatlich	
  in	
  €	
   	
  

Nettoeinkommen	
   monatlich	
  in	
  €	
   	
  

**	
  Maximal	
  wird	
  ein	
  Bruttoeinkommen	
  bis	
  zur	
  JAEG	
  (	
  in	
  2014:	
  4.050€	
  )	
  anrechenbar.	
  

Krankentagegeld	
  (70%	
  vom	
  Brutto)	
   täglich	
   	
  

max.	
  Krankengeld	
  (90%	
  vom	
  Netto)	
   täglich	
   	
  

	
   	
   	
  
Rentenversicherung	
   9,45%	
   	
  

Arbeitslosenversicherung	
   1,5%	
   	
  

Pflegepflichtversicherung*	
   1,275%	
   	
  

*	
  In	
  Sachsen	
  gilt	
  ein	
  veränderter	
  Satz	
  von	
  1,775%,	
  bei	
  berücksichtigungsfähigen	
  Kindern	
  	
  
	
  	
  	
  ist	
  der	
  Satz	
  um	
  0,25%	
  zu	
  verringern.	
  

Gesetzliches	
  Krankengeld	
   täglich	
   	
  

	
   	
   	
  

Es	
  fehlen	
  gegenüber	
  dem	
  Netto	
   jeden	
  Monat	
   	
  

Benötigtes	
  Krankentagegeld	
   Tagessatz	
   	
  

	
  
Diese	
   Lücke	
   kann	
   mit	
   einer	
   Krankentaggeldversicherung	
   ausgeglichen	
   werden.	
   Mehr	
  
Informationen	
   finden	
   Sie	
   auf	
   http://www.online-­‐pkv.de	
   unter	
   der	
   Rubrik	
   Krankentagegeld.	
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	Brutto: 
	Netto: 
	KTvBrutto: 0
	KTvNetto: 0
	RV: 0
	AV: 0
	PV: 0
	GesKT: 0
	Luecke: 0
	KT_noetig: 0


